23452 5 2 6] fm B %Mz M 22 5% 55 = B PRIR R i B i 27

M
W o Bk S SR A SR 22
mRER 8.8 128 (DIN 439),

g
ZiBRANBACA BB B H A E =,
BRELEZEELAE,

BT

BT &R ARERBEN T REREIMER T & Z2 B B R AR B
85, BIIER EEN ML U R T2 BNERE G, BB T HEREN
HEE—, BEMD ARSI NEBME  ETEFIENFE,

PR R B ES BN E BB G 5 FTA E WS MR E F R ELE R,
BXEhES RAE M HRAE

SW

e
285
I

& =18
_— T -
L3
L = L -
23452-06 REEE M6 42 15510 14 7 30,5 11 - 11 54| 10 0,6 2,5
23452-08 LD M8 48 | 6,6 | 11 16 8 355 | 135 - 13 |64 | 13 0,7 4,5
23452-10 AR M10 50 | 6,6 | 11 17 9 43,2 15 - 16 |64 | 17 0,7 6,5
23452-101 AR M10x1,25 50 | 6,6 | 11 17 9 43,2 15 - 16 |64 | 17 0,7 6,5
23452-12 MRS M12 55| 6,6 | 11 19 10 532 | 175 -] 205 |64 | 19 0,8 10
23452-121 REREL M12x1,25 55| 6,6 | 11 19 10 532 | 175 - | 205 |64 | 19 0,8 10
23452-16 LD M16 65| 9 |15 225 | 125 64 22 - 23 85| 24 1 18
23452-161 REEE M16x1,5 65| 9 |16 225 | 125 64 22 - 23 85| 24 1 18
23452-20 AR M20 80| 11 |18 28 17 74 25 - 26 10 | 30 1 30
23452-201 AR M20x1,5 80| 11|18 28 17 74 25 - 26 10 | 30 1 30
23452-0614 SRS M6 42 15510 14 7 30,5 11 14 1" 54| 10 0,6 2,5
23452-0817 SR M8 48 |1 6,6 | 11 16 8 355 | 135 17| 13 |64 | 13 0,7 4,5
23452-1020 FMRL M10 50 | 6,6 | 11 17 9 43,2 16 20| 16 |64 | 17 0,7 6,5
23452-10201 SR M10x1,25 50 | 6,6 | 11 17 9 43,2 16 20| 16 |64 | 17 0,7 6,5
23452-1225 FMRL M12 55 |6,6 | 11 19 10 53,2 21 25| 20,5 |64 | 19 0,8 10
23452-12251 SRS M12x1,25 55| 6,6 | 11 19 10 53,2 21 25| 20,5 |64 | 19 0,8 10

© norelem www.norelem.com



2 HR P RB Mz M LR IE= MY IRIR R KB RS

ARz RAER
M2 WARESD

X &K KN
23452-1630 M16
23452-16301 SMRGL M16x1,5 65| 9 |15 225 | 125 64 25 30| 23 |85 24 1 18
23452-2035 SR M20 80| 11 |18 28 17 74 29 35| 26 10 | 30 1 30
23452-20351 SR M20x1,5 80| 11 |18 28 17 74 29 35| 26 10 | 30 1 30

© norelem www.norelem.com



